WIEAOEBMSEAZ] Ik (2007 412 A 10 H) DIEFRFK

(1) p.5, X(1.7), A% 2 1
—(Txydx) cosd = —(rxydx) sinf

(2) p.5, A(1.8), U 1 THEF 2 10
oy, sinfcos@ —o,sinfcosd = o,sinfcost —a,sinbcosh

3) p.13, ¥ 1.7
il | T B 7 1 OO H AW I T RSy
Txy> [Txy + (afxy/ay)dy]’ Tyz» [Tyz + (0Tyz/6y)dy]
DI7Ta (REND [ &) H3h

(12) p.17, 2 47 H
AR RE y DOF Fey, &, Yoy CEBT DB
= (B FERRE DO Frey, £, Ve CEHT DB

(13) p.18, F/H 217 H
[C DN =D SDEANT

(14) p.18, fix F1T
r6CxJ:>’V5DXJ’ (6CyJ:>r6DyJ

(15) p.19, K (1.53), KD 1 1TH DALH 2 1A

Ocy COS 6 N 8cy sin 6 N Opy COS O N 8py sin 6
d¢ d§ dn dn

(16) p.19, =(1.53), XD 21THDF 1 H
—2&, = —&

(17) p.24, [ 1.14
i1 DC _EOF AW T1E 713 1,9 + (0T,19/07)dr | TiZ72<, 1,9 + (07,9/00)d6

(18) p.26, X.(1.78) D DX % 1 H
doy o, do, o,

(— + —) rdrd0dz = ( + —) rdrd0dz
or r or r




(19) p.26, =.(1.78) DAL 1 1]
999 _, 90
or or

(22) p.35, HwED
FBHIRD 2 SO IEA YR

Lo 0’¢ 9’9
—V<W—V6—yz> ?\DJ:U\ —V<a—yz—1/ﬁ>

(24) p.37, K Q.11), HHUDOXITNVODE 3 557
2 2
o’¢ 9%
dx0dy dxdy

(30) p.63, K& 9
(FfEa, SMED) DAEDEINIST (R Pa, SR 88b) DA ELE DRI

(31) p.66, 1€ 3.1
TROIHIEIE

Z

(36) p.73, =.(3.32)
5 1T N 1 T
~ k;ab3G ~ k; 16ab3G

(37) p.73, #.(3.33)

T T
Thax = kz@ = Trmax = kZW



(38) p.74, A(3.35) D
3T 5 3T

9= bc =153

(39) p.74, (3.35) DA KX
3T 3T

fmax = g2 Fmax = g2

(40) p.74, X 3.9
a = A=2a
b = B=2b

(41) p.86, . (4.9) DA
0%w 0%w

— = _
? d0xdy 2z 0xdy

(42) p.86, T7H21TH
G=2E(1+v) = E=2G6(1+v)

(43) p.87, X 4.3
yifill Z T E 2 I/EA 5t E— Ak

M,, = M,
oM oM
M, +—2dy = M, +—2d

(44) p.92, K.(4.35)

64W_0 N 62W_0
ay* ay?

(45) p.93, (4.36)

2*w 2°w
— =0 =& —=0
ox? 0x?

(46) p.93, (4.37)

64w_0 N azw_o
ay+ dy?



(47) p.93, K.(4.39) BLVH (4.40), Ft 3 fEHFT
1 1y 1 1y
Za2) = (i
<a4 + b4) (az + b2>

(52) p.119, R.(6.20), A LLREATEID I 1T 2 FIEL57 ]
—vir/Er = —vr./Er

(53) p.119, H.(6.20), FHBFREATHIOT2 1T 1 RS |
—vr/EL = —vir/EL

(54) p.119, . (6.21)
Vir _VrL Vrr _ Vit

B E | E B

(56) p.119, K. (6.22)

oL E./(1—virvr)  virEr /(I —virve) 0 |[&L
o] = |or [|vrLEL /(1 = virvrL) Er/(1 —virvr) 0 €r
it 0 0 Gyr| YLt
4
97 E./(1—virvrL) —VirEr /(1 —virvr) 0 |[&L
o] = |or || =V EL/(1 — virvrL) Er/(1=virvrL) 0 €r
Tt 0 0 Gir| YLt

(57) p.122, 7(6.31) DF 2 3¢
gy = S_‘lzo'y = Sy = §120x

(58) p.141, [€ 7.1
TRIDINTHEIE (AW TSI DA IIRAAE IE)
ai‘fi’ﬁﬁfﬂﬁ\‘ Ty

——

LUk



